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GCSE
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June 2012
Foundation Tier

Question Key
A embryo 2
B e 3
One 99
C sperm 4
D womb (uterus) 1
A arthritis 4
Two B diabetes 2
C high blood pressure 3
D irregular periods in women 1
A Beef 4
B Chicken 1
Three
C Low-fat spread 3
D Margarine 2
A living bacteria 2
B killed bacteria 4
Four . D
C contains no antibiotic 3
D contains the most effective antibiotic 1
A central nervous system 2
_ B muscle 3
Five
C receptor 1
D response 4
A B C D
Six 3 4 2 3
Seven 4 1 4 3
Eight 4 1 1 3
Nine 1 4 3 2
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Objective Test Answer Key
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Question Key
A central nervous system 2
One B muscle 3
C receptor 1
D response 4
A 10 2
TWo B 12 3
C 14 4
D 40 1
A B C D
Three 4 1 1 3
Four 1 4 3 2
Five 4 3 2 2
Six 4 2 2 1
Seven 2 1 2 3
Eight 3 4 2 3
Nine 3 4 1 4
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For completion by the Examination Invigilator. Please fill this circle if the candidate is absent:

HIGHER TIER -

} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.<

Questions ONE to NINE Choose one response 1 - 4 for each of the parts A - D
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FOUNDATION TIER

} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefuily.‘

Questions ONE to NINE Choose one response 1 -4 for each of the parts A - D
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